¢12~¢25

InmﬁﬁﬁﬂﬁﬁEW§ﬂ%ﬁI AEcerorex

SOMPaiif% 2\ B B 5 FF L

AT Y EER TCS ]
BARPIFE TCz
SR TR TCH
SRPIFRY W

© 07 % X B B 7 I i RE AR /N RESE AR S S L o R S A S /N
R EZEIREIAEE
® /1 BURREHIC I SBR[ o

FHEZDR
N TCS TCZ | TCH TCW
HHEL AL (mm) $12, 16, ¢$20, ¢ 25
LA CIEIE Z AR R I
Ma il
i A )@ (MPa) 10~50(100~500kgf/cm?)
AR #E (C) -10 ~ +60
NG
20
|
AIE
[
12— ¢ 12mm
16— ¢ 16mm
20— ¢ 20mm
25— ¢ 25mm

a TCH g TCW

P 2R
#ugE | TCS(Z)12 | TCS(Z)16 | TCS(Z)20 | TCS(Z)25
1BE TCH(W)12 | TCH(W)16 | TCH(W)20 | TCH(W)25
KEFRER (mm) 12 16 20 25
KEFTE (mm) 10 12 15 16
N 10MPa 1.1 2 3.1 4.9
I (N [—5o0pa 57 10.1 15.7 246
B/ANVEEE S (MPa) 1 1 1 1
M EE S (N) 28 50 80 125
=& (cm’) 1.13 2.01 3.14 491
SHEHEH (N-m) 40 50 60 80
HE (kg) 0.07/0.08 | 0.15/0.18 | 0.23/0.26 | 0.38/0.48

3-1.1



“: WA e B By Sk L A S T e

@ TCS B f€¢p12~¢425
90@9 DICICINIUG

(h

Acerorex

¢ 12~ 25

@ TCZ A [I{f¢12~425

9B 2

[©ICICICITIG

AN E
A /é/mn nnnnnn '% nIcI 1 %\L [—‘[m cccccc %:QH 1 TC
— — TS
@ TCH & [Ii&ep12~¢25 @ TCW B [k p12~¢25 E
ke Yy &
HG M
A I TS
s NS oK
I s e e e
J | TH
%%L Do
No. FE & |No. i B& |No. FE R B Bi/(v
1 [N 1 5 [ & B 1 9 Eal)=ck:d 1
2 JH AR 1 6 # 1 10 55 3 24 1 DM
3 & E A5 1 7 2hav:l: £ 1 1"
4 E;ﬁ?ﬁ% 1 8 G EEE R 1 12 DH
I R m
BhimEE
Ol X |1
C C =

AT

0 B A HO T B A8 A EE T W (2 R 10 0 o

AT

=

ERERNENFLERESRANGREE -

O

X

T RIH P BB e R L RO BB (R ) A - e IEEI R -

e

:)

3-1.2



'": A B Bl Sk L AEcerorex

¢ 12~ 25

YRR

O TCSHE $12~¢25 OTCZE! $12~¢25 ToSL
TCZ[
K
i vt
= [=] = I
Q= I oy s 3| B
A
S H T SW2 P
B c 1 x sw LL|LH T
A B1 c X
A1
RT3
FKES A A1 B B1 (o3 D E F H K L |[pMM P | SW |[SW2| T X
12 | 38,5 | 455 9 16 28 19 M22x1.5 20 6 M6x 1.0 7 12 55 18 10 7 1.5
16 | 47 53 125 | 18.5 33 24 M26 X 1.5 24 9 M6 % 1.0 7 16 55 22 13 8 1.5
20 | 56.5 | 66 14 235 41 27.5| M30x1.5 28 10 M8x1.25 9 20 6 26 17 8 1.5
25 | 60 69 15 24 43 36 M38x% 1.5 36 10 M8 x 1.25 9 25 7 33 19 11 2
TCH [
O TCHE! $12-$25 ® TCWH 12~ 25 [ o TeHis
K
| 1
TN\
% ﬁ ol = wly ﬂs ol | YA Wiy
SP/RRES 1) B ﬁ
NoT_~
W T P — T
ALY L W2 <] L
SW B2 cc X 2 |L| [HH
A W1 B3 cc X
A1
R <F %
frREY A A1 B2 B3 CC | D1 E F HH K L [pMM P |SW1|SW2| T X
»12 | 385 | 455 | 12 19 25 27 M22x1.5 20 9 M6 x 1.0 7 12 55 24 10 7 1.5
¢16 | 47 53 125 | 18.5 33 30.5| M26x1.5 24 9 M6 x1.0 7 16 5.5 27 13 8 1.5
»20 | 56.5 66 14 23.5 41 36 M30x 1.5 28 10 M8 x1.25 9 20 6 32 17 8 15
$25 | 60 69 15 24 43 46.5 [ M38x1.5 36 10 M8 % 1.25 9 25 7 41 19 11 2

ACiE FLAHRE R

15/

|
E

- TCS(Z) | TCHW) TCS(2) [TCH(W)

& = =
» SnE I | CBX | g v | Heivex | NEVYEX | g | lm
® L #12 | 8 | 165265 | 165125 9/12 25 | 31
B #16 | 9 | 20581 | 20533 12/16 30 | 34
S #20 | 9 | 245395 | 24542 14/20 35 | 40

N $25 | 11| 28542 | 285445 | 18/25 43 | 52




